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Q.1(a) Findnif
(1) nP3=6.Cs (05)
/(2) @1Ce:nCs=11:6 (05)
(b) How many words can be formed using all the letters of the word
"SONA" ? Out of them how many words
(1) Start with Vowel ? 05)
(2) Start with N 2
OR
Q.1(a) How many three digited numbers can be formed using the digits
1,2,4,5,6,7,8 2 How may of the are
(1) Even numbers ? (05)
(2) Greater than 500 ?
(b) Find the number of committees of 5 members from 7 boys and 4 girls (05)
can be formed such that each committee contains at least one girl.
(c) Evaluate :

(1) 20GC;x 10C4 (05)
(2) 10P2+5Pg ‘ (05)
Q2(a) d* (05)

. Y . _
Obtain —=- if y=logx
a8

(b) The cost functlon C of manufacturing a certain article is glven by (05)

C=2x+ 192 + 25 where x is the number of articles manufactured.
x
Find x for minimum value of C. Also find minimum cost.
(c) Obtain dy/dx if (05)
1+1¢ 1+¢
OR
Q,2(a) Find the maximum and minimum values of (05)

f(x)=3x2+ L 6x+8
3 2

(b) Write the rules of differentiation. (05)
6 05)
. 2x+3 (
Find dy/dx if y=
(c) Find dy/dx if y (4x+5)



Q.3(a) A sum of Rs. 4000 is invested for one year at 8% compound rate of
interest, if the interest is calculated quarterly, what is the effective rate
of interest ?

(b) Explain the terms :

(1) Sinking Fund (2) Effective rate of interest
(3) Simple interest (4) Compound interest
(¢) The population of a city at present is 76162, which was 65673 before S
years. Find out the rate of growth of Population. :
OR
Q.3(a) Rekha Limited issued 50,000 debentures each of Rs. 100 to be redeemed
; after 10 years. It was decided to create a sinking fund for this purposc
and to invest it at 12.5% rate of compound interest. Find out the sum to
be transferred to this fund at the end of every year.

(b) Cost of building a new house is Rs. 4,70,000 at present. If it incrcascs at
8% every year, find out the increased cost of a similar house if it is built
after 3 years ?

(c) What is an aggregate amount for Rs. 4000 at 12% rate of compound
interest for 3 years if the interest is compounded every six months ?

Q.4(a) Write the uses and limitation of Linear Programming.
(b) Solve the following LPP by graphical method.
Max Z =200x + 300y
st. 3x+3y<135

Sx+2y <180
y<2x, x,y20
(¢) Solve the following A.P.
I I 1 1Iv
A 0 7 14 21
B 12 17 22 27
Cc 12 17 22 27
D 18 22 26 30

OR
Q,4(a) Solve the following Transportation problem by (1) NWCM (2) VAM

A B C D Demand

p 15 10 17 18 |2

Q 16 13 12 13 |6

R 12 17 20 11 |7
Supply | | 3 3 4 5

(b) Use the graphical method to solve the following LPP
Max Z =3x; + 5x;
s.t. 3x3+2x,<18
X1 < 4
X2$6, X1, X2 2 0
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